x=3,y=2%L ], (-8x%y + 12xy?) + (=2)2xy — (9xy — 6y?) + 3y <]
27

@ -10 @—5 ® -13 @ 5 ® 10

B ~
(=8x%y + 12xy%) + (=2)%xy — (9xy - 6y°) + 3y
-8x%y + 12xy?  (9xy — 6y?)
- 4dxy - 3y
= -2x+3y— (3x—2y)
= —5x+ dy
r=3,y=28 Hgstd
(=5)x3+5x2=-15+10 = -5
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3. x—y:2°]ﬂa:23x,b:23y%1-mﬂ,%94%}'%?

@ 8 @ 16 ® 32 @64 ® 128

;l_) _ 23x—3y _ 23(x—y) _ 23)(2 _ 26 — 64




v A (3x—y) : (2x —4y) = 2: 3 Sy ©f Wslo] Eofzt
1— = .

| 2
> d™EH:

4x - 8y = gx — 3y
5y = —5x

Sy =-—X




6° =68 o) 2y0 gatolat. (@ x20)

5. 2x=3ydm X XY
A T SRR

> E:

D= %

6x> — 6x2y _ bx—-6y 6x—4x 2x 1

2x3 +3x2y  2x+3y 2x+2x 4dx 2




